Vidutiné koncentracija tyrimo taSkuose matavimo laikotarpiu, pg/m?
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AF 0,0011 0,0188 (0,0902 |0,0018 |0,0037 |0,0009 |0,0032 0,0032
AH 0,0011 0,0006
AG 0,0012 0,0252(0,0482| 0,0028| 0,0042| 0,0007
Al 0,0109 (0,0446| 0,0015| 0,002| 0,0007
Al 0,0011 0,0196 (0,0693 | 0,0025| 0,0038| 0,0026
AK 0,0023 0,0011 0,0185(0,0438| 0,002| 0,0033| 0,0013| 0,0023
AM 0,0012 0,0213(0,0577| 0,0022| 0,0044| 0,0029 0,0019 0,0016 0,0019 0,0017
AN 0,0015 0,0127(0,0381| 0,0019| 0,0022| 0,0008
AO
AP 0,0013 0,0012
AU 0,001 0,0119| 0,031 0,0022| 0,0026 | 0,0008
AT 0,0115(0,0285| 0,0016| 0,0027| 0,0015
AS 0,001 0,0124| 0,031 0,0025| 0,0009
AR 0,0011 0,0169(0,0315| 0,0018 | 0,0036| 0,0016
B 0,0052 (0,0285 0,0019 0,0014 0,0011 0,0018
A
c 0,0016 0,0137(0,0245| 0,0017| 0,0028| 0,001| 0,0046 0,0039
E 0,0012 0,024 10,0464 | 0,0032| 0,0052| 0,0008 0,0018 0,0034
F 0,001 0,0016 0,0015 0,0031 0,0278 (0,0478 | 0,0028 | 0,0042| 0,002| 0,0068| 0,002 0,004 | 0,0018
G
H 0,0011 0,0329(0,0649| 0,004 | 0,0061| 0,0008 0,0025
K 0,0014 0,0179(0,0424 | 0,0024| 0,0034
N 0,0013 0,0346( 0,06| 0,0046| 0,0059 0,0022
J 0,001 0,0095(0,0273 | 0,0014| 0,0028| 0,0011
T 0,0021 0,0225(0,1041| 0,0026| 0,0046| 0,0012 0,0032 | 0,0018
s 0,0021 0,0255| 0,073 | 0,0027| 0,005| 0,0013 0,0018 0,004 0,0014
R 0,0011 0,0232| 0,043| 0,0032| 0,0047| 0,0007
P 0,0011 0,0214 (0,0504 | 0,0027| 0,0043| 0,0008 0,0016
u 0,0055 0,0225(0,1141| 0,0026| 0,0039| 0,001 0,0033
Vv 0,0011 0,001 0,0216 (0,0293 | 0,0027| 0,0041| 0,0026 0,0024 0,0015 |0,0664 [0,0015 | 0,0009
z 0,0054 (0,0088
AD 0,001 0,0287| 0,069 0,0033| 0,0052| 0,0013 0,0017| 0,0015
AC 0,0023(0,0138 0,0017 0,001
AB 0,0009 0,0131| 0,045| 0,0017| 0,0031| 0,0011
[e) 0,0013 0,0013 0,0105 (0,0185 0,0026 | 0,0019 0,0019(0,0014 | 0,0013
| 0,0066 0,001 0,0255(0,0779| 0,0035| 0,0047| 0,0008| 0,0019|0,0015
AE 0,0012 0,001 0,0127(0,0776 0,0022| 0,0015 0,0011
M 0,0017| 0,0016| 0,0015 0,0017 0,0236 (0,0425| 0,0034 | 0,0049 0,0015| 0,0031 0,0023 0,0035| 0,001
D 0,0009 0,0227(0,0316| 0,0037| 0,0045| 0,001
AV
AA 0,0209 (0,0218 | 0,0028| 0,0038| 0,0011| 0,0059
BC 0,0005 x0.0006 0,0006 <0.0007 0,0028 K0.0007 k0.0009 | 0,0019 0,0007 0.0014 «0.0007 0,001 | 0,0004 k0.0006 <0.0007 x0.0007
BD 0,0015 0,0016 0,0006 0.0007 0,0006 0,0007 0,0004 | 0,021 0,0041 k0.0004 0,001 k0.0006 0,0005| 0,0007 <0.0005 K0.0005 | 0,0007
BE 0,0008 <0.0006 | 0,0008 0,0006 0.0007 0.0005 | 0,0046| 0,013 <0.0007 0.0009 0,001 0,0013 0,0005 0.0006 | 0,0007 0.0007
BF 0,0007 0,0007 K0.0006 k0.0005 k0.0007 0.0005 | 0,0007 0,0009 0.0008 k0.0004 0,0013 0,0005 0.0004 (<0.0006 k0.0005 K0.0005
BG 0,0006 0,0006 0,0008 | 0,0005 0.0007 0.0005 | 0,0052 0,001 <0.0009 0,001 <0.0004 0,032 0,001 0,0005 k0.0007
BH 0,0006 K0.0005 K0.0006 k0.0005 | 0,0007 0.0005 | 0,0021 |0,0058 <0.0007 0,0007 0,0004 k0.0007 0.0008 0,0004 0.0007 «0.0007
BM 0,0034 0,0016 K0.0006 | 0,0009| 0,002 0,0009 | 0,0098|0,0286| 0,0011| 0,0015| 0,0005 0,026 0,0004 k0.0007 0,0006




BL 0.0005 0.0006 [0.0005 0,0007 0,0069 |0,0074 | 0,0011 k0.0009 | 0,001 K0.0008 0,0011 <0.0004 0.0007 k0.0007

BP 0,0009 0,0009 0.0006 | 0,0005| 0,0009 <0.0005 | 0,0078| 0,029| 0,0011| 0,0011| 0,0006 0,0006 0,0005 <0.0006 | 0,0006 0.0005

BT 0,0007 0,0009 0.0006 | 0,0008| 0,0012 0.0005 | 0,0083| 0,022,0011 | 0,0011| 0,0012 0,0006 <0.0007 0,0005 0.0007 <0.0005

BU 0,0008 0.0006 | 0,001 0,0006 | 0,0015 0,0005| 0,0053| 0,018| 0,0008 0,0007 0,0005 k0.0007 0,0004 0.0006 0,0009
BR 0,0008 0,0006 <0.0006 [<0.0005 | 0,0007 <0.0005 | 0,002 0,011 K0.0007 0,0012 <0.0004 0,001 <0.0008 0,0005 <0.0005

BS 0,0009 0,0006 0,0005 | 0,0007 0.0005 | 0,0058| 0,019| 0,0008 k0.0009 | 0,0011 <0.0004 0,0004 <0.0008 0,0005 <0.0007 0.0007

BV 0,0006 K0.0006 K0.0005 0,0006 | 0,0007 0,0045 | 0,011 K0.0007 [0.0009 | 0,0009 k0.0008 <0.0004 0,0009 0,0005 k0.0006 K0.0007

Bz 0,0005 0.0006 K0.0005 0,0011| 0,0007 0.0005 | 0,005| 0,012K0.0007 k0.0009 | 0,0011 0,0007 <0.0007 <0.0008 0.0004 0.0006 [0.0007

cA 0,0006 0,0006 0,0006 | 0,0011 0,0062 |0,0079 | 0,0008| 0,0011| 0,002 0,0006 0,0007 0,0016 <0.0007 0,0005 <0.0007

c8 0,0009 0,0011 0.0006 | 0,0007 £0.0007 0.0005 | 0,0071| 0,0240,0011 | 0,0012| 0,0017 0,0007 0,0007 0,0018 0,0009 | 0,0009 0,0005
cc 0,001 0,0012 0.0006 [<0.0005 | 0,0007 0,0006 | 0,0037| 0,028 k0.0007 | 0,001| 0,0018 0,0014 0,0005 <0.0007 <0.0005

e 0,0008 0,0015 <0.0006 | 0,0005 0,0053| 0,02 £0.0007 [0.0009 | 0,0011 0,0005 <0.0004 0,0006 0,0006 K0.0006 0,0006

cE 0,0007

cF 0,0006 0,0005 K0.0007 0,001 | 0,0016| 0,027 k0.0007 k0.0009 | 0,0018 0,0006 0,0006 0,0011 0.0007 k0.0004 0,0006

c. K0.0005 0.0005 0,0021 0.0007 0,001 0,0029 0,0081 |0,0037 |0,0005 |0,0004 |0,0006

o 0,0005 0.0006 K0.0005 <0.0005 0.0007 |0,0019 0,0029 |0,0095 | 0,0008| 0,0009 | 0,0004 0.0014 <0.0008 <0.0004 <0.0007

cM  K0.0005 0.0005 0,0005 k0.0007 0,0014 0.0007 0,0018 0,0005 0,0007 0,0005 0,0007 0.0004 k0.0006 0,0007 |0,0004

N 0,001 0.0006 [0.0005 0.0007 <0.0005 [0.0007 <0.0005 K0.0006 0,0009 0,015 0,0006 <0.0004 <0.0007 0,0005

co 0,0005 0,0007 0.0007 0.0005 [0.0007 <0.0005 K0.0006 0,0014 0,0006| 0,016 0,0007 <0.0008 0,0006 <0.0005 0,0006

cP  K0.0005 0.0005 0.0007 0.0005 | 0,0007 0.0005 k0.0006 0,0013 0.0004 0.0007 0.0005 0,0005 0,0052
R KO0.0005 K0.0006 {0.0005 0.0007 <0.0005 [0.0007 <0.0005 K0.0006 <0.0003 <0.0004 0.0008 <0.0004 <0.0005 0.0003

BN [K0.0005 k0.0006 K0.0005 0.0007 0,0008 0,0014 0,0073| 0,028 0,0012| 0,001| 0,0014 0,0006 <0.0014 0.0007 0.0008 0,0004

a  k0.0005 0.0005 0,0007 <0.0005 | 0,0078 0,0013| 0,0012| 0,0005 0,0175 0,0005 0.0014 <0.0004 <0.0007 k0.0007

BO 0,001 0,0013 0,0031 0,0007| 0,011 0,0007| 0,0058| 0,015| 0,0009| 0,0009| 0,0014 0.0004 0,0007 0.0004 0.0005 0,0021
cG 0,0005 0,0006 0.0006 K0.0005 K0.0007 0.0005 | 0,00080,0012 0,0005 0.0008 0.0004 0,0004 0.0008 0.0004 k0.0007 0.0005 0,0012
BB 0,0024 0,0019 0,001 0,0022 0,0024 0,0012 0,0013| 0,021 0,0015 0,0012 0,0009| 0,0014| 0,0009| 0,0008| 0,0008

Pl 0,0013 0,002 0.0006 | 0,0006 0.0007 0,0011| 0,0058| 0,01| 0,0011| 0,0011| 0,0008 0,028 <0.0014 0,0004 0,0006

B [0.0005 k0.0006 K0.0005 0,0008 K0.0007 0,009| 0,053| 0,0015| 0,0015| 0,0008 0,0005 <0.0008 | 0,0009 <0.0004 <0.0007

cH  K0.0005 0.0005 0.0005 0.0007 0,0018 0.0007 K0.0009 [p,0004 0.0007 0.0004 0.0007

¢k K0.0005 k0.0006 [0.0005 0.0007 <0.0005 0.0007 <0.0006 <0.0003 0.0006 K0.0004 K0.0006 K0.0007

BA 0,0005 0.0006 K0.0005 0.0007 <0.0005 0.0007 <0.0005 0,0007 <0.0004 <0.0004 0.0014 0.0008 0.0007 | 0,0005 0.0006

B« [0.0005 0.0005 0,0007 0.0005 | 0,0054| 0,013| 0,0007 k0.0009 | 0,0014 0.0007 0.0004 0.0007




